A 2 o & A

Al A

A LIS
M s =3 =3
=2 XNFAe SEE8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Cel=X 319,589,752 314,587,628 5,002,124
= 202,541,402
[ 5,894,585
= 29,504,972
Al 81,558,793
= =X sd 319,538,768 314,536,382 5,002,386
= 202,541,402
[ 5,894,585
= 29,504,972
Al 81,507,809
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11 AMRISXAEEES 200,000 300,000 100,000
OAI2E SEXETRY 2 200,000
= 100,000
=S 100,000
NSiAtel SEE=s 2 30,000 30,000 0
201 er2 3| 30,000 30,000
01 AtR2telHl 30,000 30,000
OXlSAtel Set=8 = 30,000
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&t Lel=X SH (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHEQ ==4] XA 144,000 144,000 0
301 LEtE N = 144,000 144,000 0
02 ARSI 2EH 2GS (HAAHS, W) 144,000 0 144,000
OsHe ==4| N2 144,000
JI=g=s 219,8%,886 219,8%,886 0
= 175,916,709
= 8,795,835
Al 35,183,342
301 EtE N = 219,895,886 219,895,886 0
= 175,916,709
[ 8,795,835
Al 35,183,342
02 MBI 2HHSFHS(HAANS, XLHE) 219,89%,886 0 219,8%,886
OPJESE 219,89%,886
= 175,916,709
== 8,795,835
Al 35,183,342
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s 5,770,221
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Al 2,143,785
307 212+01& 8,779,536 6,956,321 1,823,215
= 5,770,221
= 865,530
Al 2,143,785
1 AMISXAIEEXS 8,779,536 6,956,321 1,823,215
OLIXESSAEIA ALY 8,779,536
[ 5,770,221
= 865,530
Al 2,143,785
SHEQ SSEL SSAIMEIA 2SR 255,928 245,320 10,608
[ 124,364
Al 131,564
307 212+01& 255,928 245,320 10,608
= 124,364
Al 131,564
10 AlRISTIAIEEE 22X 255,928 245,320 10,608
O=HE SSHM SSAHAHA 2
A& 255,928
= 124,364
Al 131,564
HX s 024 SIS 9,000 0 9,000
201 fer= 3| 9,000 0 9,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 9,000 0 9,000
OHX s =24 dHSSXE 9,000
o=k 24 4,829,459 4,577,117 252,342
307 el2to| & 4,829,459 4,577,117 252,342
05 212+ =S 4,829,459 4,577,117 252,342
Ooet=ols |2 895,673
oz e=Xx2 567,544
ON3I=X 2 891,318
ogxLoI=Ex|2 736,884
Ok == X2 907,331
OZEHOI ==X 830,709
LoiEXi2 JIsE2(E EouA 160,000 64,014 95,986
[ 160,000
402 BIZHA=01A 160,000 64,014 95,986
= 160,000
02 QI X2 AL EE(OIHTHE) 160,000 64,014 95,986
OLo=Xa JIs2 160,000
= 160,000
COISXZ SAHA SE=E 147,960 147,240 720
< 44,388
Al 103,572
307 glztol & 147,960 147,240 720
= 44,388
Al 103,572
11 AMEISXAIEEXS 147,960 147,240 720
CoISX2 SAHA SE+E 147,960
= 44,388
Al 103,572
ARISXIAL SRt X 203,700 170,700 33,000
307 212+01™ 203,700 170,700 33,000
11 AMRISXAEEES 203,700 170,700 33,000
OAt2IZTIAL SXI9E X2 203,700
OOt IS XAl 90,000
@ QlMEAIL 59,700
@ oI=sX2 29,400
OAILIGZEE 16,200
O QIXEESAHI AT 2 8,400
o=k ANzl 28 275,936 307,294 A31,358
= 26,913
Al 249,023
307 el2to| & 275,936 307,294 A31,358
S 26,913
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M s =3 =7
gelr LoISX B8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,021,800
@2 0IH Q2| 305,454
HSEE NAS Tl AAHHHE 945,900 843,300 102,600
& 228,420
Al 717,480
301 EtE NS 22,500 22,500
14 IIEt2 83 22,500 22,500
ONS=E NAS Mot AAHHE 22,500
307 el2to| & 923,400 820,800 102,600
S 228,420
Al 694,980
1 AMISXAIEEXS 923,400 820,800 102,600
OHES=E MAS Mot AAHE 923,400
== 228,420
Al 694,980
=015 243t At 204,010 198,150 5,860
= 39,752
Al 164,258
307 elzto| & 204,010 198,150 5,860
= 39,752
Al 164,258
11 AMEISXAIEEXS 204,010 198,150 5,860
OkL0l3l gdst At 159,010
=S 39,752
Al 119,258
0Z2E YHa= 45,000
CoI=EXgR F=a 1,800 1,800 0
203 HP=H] 1,800 1,800
03 A=A PR 1,800 1,800
ooIsige =X 1,800
NUSEE =sSdH 15 1,400,000 1,400,000
401 AIEHIX R0 1,400,000 1,400,000
01 A28l 1,400,000 1,400,000
ONUSEE SSUHE P=(SEu2A) 1,400,000
=S e IelREAHIA XA 8,500 8,500
201 =3 8,500 8,500
01 At22t2lt] 8,500 8,500
O™ =esS e-18l LEANHIA XIH 8,500
Fd2Y SEH0/M0l £X 62,964 0 62,964
= 18,889
Al 44,075
201 er2 3| 62,964 0 62,964
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= 18,889
Al 44,075
=4 X 53,036,326 50,251,599 2,784,727
= 25,336,404
= 10,264,202
Al 17,435,720
ol Xl At 50,672,809 47,485,421 3,187,388
= 25,336,404
< 10,134,562
Al 15,201,843
101 @124H| 5,679,931 7,075,107 A1,395,176
= 2,839,965
== 1,135,986
Al 1,703,980
03 SRA(RIH L) 222+ 86,481 0 86,481
Ot AL 86,481
= 43,240
=S 17,296
Al 25,945
M JIZtHZZ2 RS2 5,593,450 7,075,107 A1,481,657
Ol Rl At 5,593,450
= 2,796,725
=S 1,118,690
Al 1,678,035
201 =3 186,350 197,240 210,890
= 93,175
=S 37,270
Al 55,905
01 AtR2t2|HI 186,350 197,240 210,890
Ol Xl 186,350
= 93,175
= 37,270
Al 55,906
301 LEtE NS 250,821 110,968 139,853
= 125,411
= 50, 164
Al 75,246
4Bt 23 250,821 110,968 139,853
Ol Xtel At 250,821
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A LIS
M Ls =3 =3
ol =248 A3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,070,000 1,070,000 0
= 96,000
Al 974,000
10 Al SXAAEEHE2EHI2x 1,070,000 1,070,000 0
OAILIoIZ2E 228I(30H) 1,070,000
= 96,000
Al 974,000
AMUOZSE SAHA EE5E 28,800 29,160 A360
< 8,640
Al 20,160
307 elztol & 28,800 29,160 A360
& 8,640
Al 20,160
11 AMEISXAEEXS 28,800 29,160 A360
OAILICIZE SAA SEE8=E 28,800
= 8,640
Al 20,160
AILIGIZ2E JIS22(& Z0ola) 25,000 92,000 267,000
s 25,000
402 2I2F X201 & 25,000 92,000 267,000
= 25,000
02 RIINEASEZ(0IETHR) 25,000 92,000 267,000
OAILINIZE JIsEd 25,000
< 25,000
COIAIE X2 25,607,843 25,865,820 N257,977
= 1,188,289
= 8,693,049
Al 16,726,505
LOIRSAZAIE X3 (HEAIY) 844,718 772,210 72,508
= 586,461
Al 258,257
307 @I2t01 & 844,718 772,210 72,508
== 586,461
Al 258,257
10 Al2ISTIAIEEE 22X 844,718 772,210 72,508
OLIRSAZAIL K& 844,718
< 586,461
Al 258,257
COlMEA L XIZ 8,483,414 7,921,720 561,694
= 6,106,8%
Al 2,376,518
301 EtE2 NS 8,483,414 7,921,720 561,694
=S 6,106,8%
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Chelr ZRIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,376,518
02 A EEHS(FIANE, XLTHE) 8,483,414 0 8,483,414
OoLoldaAd XA 8,483,414
s 6,106,8%
Al 2,376,518
COIMEAIE SAA SEH 253,800 400,000 146,200
& 76,140
Al 177,660
307 glztol & 253,800 400,000 146,200
= 76,140
Al 177,660
1 AMEISXAIEEXS 253,800 400,000 146,200
COIHEAIE SAL S8 253,800
= 76,140
Al 177,660
MASH (I MEAL) 1,138,766 945,642 193,124
= 1,024,889
= 79,714
Al 34,163
307 @20l & 1,138,766 945,642 193,124
= 1,024,889
= 79,714
Al 34,163
1 AMEISXAEEXS 1,138,766 945,642 193,124
OMASO (I HEAIL) 1,138,766
= 1,024,889
= 79,714
Al 34,163
ZHSH (= MEAIL) 30,000 30,000 0
= 27,000
& 2,100
Al 900
307 glztol & 30,000 30,000 0
= 27,000
< 2,100
Al 900
11 AMEISXAEEES 30,000 30,000 0
OTHSH (ML) 30,000
= 27,000
s 2,100
Al 900
MHIt=CI=XAIE K& 12,672,816 12,410,419 262,397
= 1,714,363
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Chelr ZRIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,958,453
307 gl2tol & 12,672,816 12,410,419 262,397
=S 1,714,363
Al 10,958,453
10 Al SXA2EE 22X 12,672,816 12,410,419 262,397
OMIt=ISXIAIE XIS 12,672,816
< 1,714,363
Al 10,958,453
ML= QIS XIAIE SALALY S22 95,040 114,840 19,800
= 28,512
Al 66,528
307 el2tol & 95,040 114,840 19,800
= 28,512
Al 66,528
11 AMISXAIEEX 95,040 114,840 19,800
OMII=RISXIAE SALA SE+E 95,040
== 28,512
Al 66,528
LOICIOIHIOIHIE 29 243,540 123,552 119,988
= 73,063
Al 170,477
307 elztol & 243,540 123,552 119,988
= 73,063
Al 170,477
10 Al SXAAEEHE 22X 243,540 123,552 119,988
o=ltoNuE =29 243,540
= 73,063
Al 170,477
LRIQUANE =HEAY 208,000 1,018,320 /810,320
= 136,400
S 25,800
Al 45,800
402 2I2F X201 & 208,000 1,018,320 /810,320
= 136,400
= 25,800
Al 45,800
02 QI X2 AL E R (01X THE) 208,000 1,018,320 /810,320
OLQIRAAE =S ALY 208,000
= 136,400
= 25,800
Al 45,800
S8 XNEE SEHIAL A48 800,000 1,496,731 269,731
401 AlEHIZ 201 800,000 1,496,731 N\696,731
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